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S. Manly Spring 2007

Final Exam (May 8, 2007)

Please read the problems carefully and answer them in the space provided. Write on
the back of the page, if necessary. Show your work where requested in order to be
considered for partial credit. In problems where you are requested to show your work,
no credit will be given unless your work is shown.

Problem 1 (13 pts, no need to show work):

By each description on the left, put the letter of the answer on the right that best fits. There may
be more than one answer on the right that works, in which case any of the correct answers is

sufficient.
a. electron
N‘_ One type of quark found in neutrons b. muon neutrino
L Force carrier (gauge boson) for c. proton
electromagnetic interaction
d. pion
Force carrier (gauge boson) for strong
interaction e. charm (c) quark
h Only undiscovered particle predicted f. W
by the Standard Model of particle physics
g. gluon
h Particle that can pass through light
years of lead without interacting h. higgs
F of L Oneofthe particles mediating the . Z
weak interaction (force carrier for weak
interaction) j. top (t) quark
Cor jg A particle made up of three quarks k. muon
i An example of a meson I. photon
ll o ‘) or g An example of a lepton m. up (u) quark
06 o¢ L of YA_ A massless particle n. graviton
(3 pts) List below three of the five particles 0. hydrogen atom
listed to the right which are known to be
made of other particles (have constituents). p. hadron

C\O{ O P 9g_ a. baryon
) — 5+
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Problem 2 (3 pts, no need to show work):

Is it possible to prove, for certain, that a scientific theory is true?

a) Yes, by means of a single confirmed experiment that verifies the theory.
b) Yes, by carrying out a sufficient number of experimental observations.
c)_ Yes, by deducing it logically from other scientific theories that are known to be true.
* No, because it is always possible that a future experiment will disagree with the theory.
P €) No, because of the experimental error, or uncertainty, that is always present in any

experimental result.
| PT

Problem 3 (3 pts, no need to show work):

( Is it possible for the driver of a car to accelerate the car without pressing on the accelerator pedal?
T
LeT :’D a) Yes, by pressing the brake pedal.

b) Yes, by turning the steering wheel.

c) Yes, by both of the above methods.

d) No, because the only way to speed up a car is to press on the accelerator pedal.

e) No, because an object in motion remains in motion unless acted on by a force.

Problem 4 (3 pts, no need to show work):

Suppose you are on the moon and you drop a rock and a feather at the same time. You will find
that

@ the two fall at the same speed, but this speed is slower than a rock would fall on Earth.
b) the two fall at the same speed, and this speed is the same as the speed of a rock falling on
Earth.

c) the rock falls faster than the feather, although both of them fall slower than they would on

Earth.

d) the rock falls faster than the feather, and both speeds are the same as they would be on
Earth.

e) they don’t fall. They remain suspended above the surface of the moon.

Problem 5 (3 pts, no need to show work):

Two sources of waves, call them A and B, send out waves across the surface of a lake. The
waves from A have crests 1 cm high as measured from the normal undisturbed surface of the
water. The waves from B are identical to those from A. How far is the water displaced at a point
where a crest from A crosses a valley from B?

a) 2cm above.

b) 1cm above.
@ No displacement.

1 cm below

e) 2cm below
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Problem 6 (3 pts, no need to show work):

Ernest Rutherford’s experiments in which alpha particles passed through or scattered from a thin
piece of gold foil demonstrated that

a) Lightisawave.
b) Light is made of particles.
@ The atom contains a tiny nucleus containing most of the atom’s mass and positive charge.
Electrons exist.

e) Neutrons exist.
f) Itis possible to generate x-rays from a heavy metal.

Problem 7 (3 pts, no need to show work):

Two electromagnetic waves have different frequencies but equal amplitudes. The one with the
higher frequency has

a) Greater speed.

b) Longer wavelength.
Greater energy.

d) All of the above.

e) None of the above.

Problem 8 (3 pts, no need to show work):

Velma’s rocket ship is moving away from Mort at a speed of 0.75c. Mort fires a laser beam
toward her spaceship, observing the tip of the laser beam to move away from him at speed c.
Velma observes this laser beam to move past her at a speed of

a) 1.75c.
b) 1.25c.
C.
d) 0.75c.
e) 0.25c.
f) The light never catches up with Velma.

Problem 9 (3 pts, no need to show work):

If you were in a spaceship in outer space and accelerating at 0.5g, how heavy would you feel?

a) weightless.
@ half your normal weight.

c) your normal weight.
d) 1.5 times your normal weight.
e) The answer depends on how fast the spaceship is moving.
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Problem 10 (3 pts, no need to show work):

Which chemical elements were created during the first few minutes of the big bang?

a) All 92 of the naturally-occurring chemical elements.
b) Only the heaviest elements, having atomic numbers higher than that of lead.
c) Only the elements through iron in the periodic table, i.e., only elements 1 through 26.
(d)) Only a few of the lightest elements, such as hydrogen, helium, and lithium.
e) No chemical elements were produced in the big bang. All the normal chemical elements
were produced much later.

Problem 11 (3 pts, no need to show work):

One unusual aspect of dark matter is

a) it exerts no gravitational force.
b) its gravitational force pushes (repels) instead of pulling.
@ it’s made of a material that has not yet been observed in our laboratories.
) it exerts a new kind of fundamental force, never observed before.
e) it moves at lightspeed.

Problem 12 (3 pts, no need to show work):

Which of the following is a consequence of Heisenberg’s uncertainty principle?

y a) The overall layout of the universe.
<k°‘/ b) The uncertainties involved in determining a person’s genetic inheritance with DNA
\ ¢ Y molecules are combined.

r(r"‘ d-/ c) The range of the weak nuclear interaction.

)}l* d) The unpredictability of radioactive decay.
All of the above.

Problem 13 (3 pts, no need to show work):

During the Manhattan project, what was the primary site for enriching uranium, i.e., separating
the U-235 from U-238?

a) Los Alamos, New Mexico
b) Los Angeles, California
Hanford, Washington
Oak Ridge, Tennessee
e) Lawrence Livermore Laboratory in Livermore, California
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Problem 14 (7 pts, no need to show work):

Of the four fundamental forces of nature (strong, weak, electromagnetic, gravitational), which
one is responsible for

holding atoms together to make a table? E‘QC‘H‘O N\thu{MQ]:gJ
holding electrons in atoms? Q (,Q Aro Mw\g\/l*:c,

holding nuclei together? QT( e

making balls fall downward when dropped? C'J (AV' bat : 0wt

nuclear fusion? g’ﬂ M%/
beta decay of a nucleus? WQAk,
the emission of light by an atom? 8 (.Q,C;H‘o Ma%/uof: [

Problem 15 (4 pts, no need to show work):

List two scientific discoveries that Galileo made.
ob,ects of DiHeut W‘Q«y‘dh fal( at Ha Somt relo - O(A-Mpm‘“d-ﬂ-
Ablead Penclulums So . ng at approx, HaeChme MRt 174

Craders o MDA | SumsRoTS | Satunm LIRS NOT (Ownd, I\l\:ha~3 \quj M pod
Moons oF T Her | Phuces ofF Veaus oF STeng

Problem 16 (3 pts, no need to show work):

In football, receivers with “soft hands” are good to have on your team. Why?

a) All football players are concerned with having pretty hands and nails.

b) Having a good amount of flesh on the hands lessens the shock of the ball on the bones of
the receiver’s wrists, allowing them to avoid injuries.

c) If their hands are soft, it doesn’t hurt as much when you give them a “high-five”.

d) They are less likely to damage the ball with repeated catches.
Giving a little when the ball hits the hands allows for the change in velocity of the ball to
be stretched over more time generally leading to a higher probability of a good catch.

Problem 17 (3 pts, no need to show work):

List the experimental scientific evidence to date, if any, that supports string theory as a correct
vision of how our universe operates.

There ©s No Q/x(w\fwu];a ens om0
§wKL6worJrlnc) §Tr.‘r\6 W (0527‘.
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Problem 18 (6 pts):

Why is the Bohr model of the atom important historically and today?
Tho Bobw rwoda( s # Firet Nucloar Model of The atom Had wag
able fo exp(M s e a{-ou.‘g 5("€cjrrA. 71@4, A G oF .‘l-sc//) wa s
?"’\@e'\w. AT ‘re cosz;l“"\gus/«’"r[‘l Bolr Model iwcm‘)o-\g,tcﬁ ?umﬁy‘)
othi\g omd tran giiang hetoeen Hhaee ochit s wore dpre '“2) oM. \-}'.N,’
(S | o\a<.ot\:>‘m.J Photonsof ericen ha) . The Sucenng of Ha Rol, Modg |
he lpet go\;&‘\':\b“’t\m o thd lighd exists ca ((H& quamtn amdk
helgech $ot Hae Scomo for +o UM fnc k. ‘6 UM iy mocheics &
JQCMU Q‘*"'&‘ Toc,\a.z ' TL-tBo(«\r Modo\ ¢ ‘vM.po—\k,Mf beconae i T Shoro,

W«ua 0‘6 ‘\'Ll S FQA'\‘WU_S OL J’LL ﬁwll uoo-n ?ubm/-up\ I\MC,L\M .‘“,,Q
Sl o 26 H. \**144.050.“ ofonn and g wacehd for 3\4;0{-3)0*\.(;
Problem 19 (6 pts): . . <
At X e oot MJ\MQTANDSAQJ ot A,

Describe a chemical bond between atoms in a molecule? What is its essence? How does it work?

A1) chomicad bonds orn Fw\o'awa) electro Magrret e m Aafuy |

Tn Somo cases lmooanas iomic bondc | on eleckran From oo afoud
s fkog{'evl*Q)J fo o Stcond atom, This lovas o Formmarabom
WA & wel posvine eleckne chuase o s lllor aTom it

6 woN recuive Chowgt . These atoms ace U cllracked +o

" onatlen e\eckrostatica by In ensthe. JY{)}(LQ +7{w 6{

o \o&m&, oo s o Covelad bowd e atoms &cr"uq(LJ
Showre o Lm»-o)\a «»{e,\u‘crov\s (wauﬁow From eadda Of‘oM).

The Shoe A 0 (ockron s fouck to ha pPoSitione] Sp«+rb/év hofreee,

the Fwo afomic Nucle, m Mlaun s Cach haucleus (s = Hracte
+00M 4—(\4 nof qu-t,u C,QN,V% \:Q*wum ‘H\aM &MJ ‘Hu,

forms Yol o 5%41,« dremnid bswd
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Problem 20 (6 pts, show work): M %

F Mo .
A car has a mass of 1000 kg. _ W\

a) (2 pts) How much does this car weigh? ( 1000 \25 ) (q Y M/S l) = 9%00 MQKH‘DI\S

If this car is moving along a flat, straight road at a constant 50 km/hour and it experiences wind
resistance opposing its motion of 500 Newtons,

b) (2 pts) What is the net force on the car?

—r\'\Q Net \:Dvc.( S W Siaa 0 %\'\CM S NoY accewb\? :

c) (2 pts) What is the force exerted by the car and tires to drive the car forward?
T, force Muot b2 eﬁ‘k‘tl ond odl‘)osi]fe fo He foree From
WA NGigtemnce 5o Haed He Mot Force S R Cmsqw.d—[bl

'{/(o\;b Foru 5 Seo Mwl—ws IV‘ -PL.m Iofua-\Ja&fN.z:h«S—n
Problem 21 (6 pts): \ —

(
Is intergalactic space empty? Briefly defend your answer. Tyo acul-rx"‘" AVSIEeS witlr

olls..n.c,+‘:"""
ﬁ ﬁn\b\saon*‘?L §‘>«u ‘s &)T OM{JJ«a- _
j,\w"«_\“#}c, sPace conteing o leact Ho l'bl(o":“ﬁ *&*Af ‘

- Soma \""\J"‘OY"V\ o) Waliom o) Lo ag gas Froaa -HA&R“? Pw-u%

- Wodpinos From Hu k75 bwnﬁ au ellpa procesrares

- Vierd pwc\-'c(e 'A—v\¥‘.pa~4.£(.e pairs pa-@@.'/\aj in ok ot
9()'1'(4 Vol uwvMm oS quamtui (’(uc(‘ua('wi.

- 9’\1))\'0"\5 STreawms AN 'H’\fo‘“]l'\ Pace Crorn all Qouncay ‘{
‘«\}4 Sadies STATS %alk Han CosMic Manpuacd

Dot mangg - - Thowsh e dom’s M,Jujmuud Huy i 97
_ Soma dade m Her - Not jd’ fu(b.' v ens, oo -

Tt\n 1%%—«\;} Aanle m({_c;‘ M—Vmu" o}qw;fqﬂﬂa[él Co ,4’(&“'0,\, ms}(j
C\ULM{.QJ N qa.(w(:eg, 1Sul, Mol cnowmd's cod he fornd L hofusesa
How

O)akb\x"es J
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Problem 22 (7 pts, show work):

Plutonium-239 (**Pu) decays naturally emitting an alpha particle with a half-life of 24,000
years.

a) (2 pts) What is the isotope that plutonium-239 decays into? (Part of the periodic chart of the
elements is reproduced below to aid in your quest for this answer.)

. 23S
Kdewg £92-2 P 55y Lo A T
A A-H Y

Suppose a particular nuclear bomb design requires 3.4 kg of plutonium in order to explode.

b) (2 pts) Knowing this, how much plutonium should be put in the bomb to insure that it will
explode for the next 24,000 years?

6% ‘e7 Y L\Jv() 06—{'(,‘( P weldd Lne*pecfe'J o .
g‘zcm? oA Zu‘ooo(yms gTi“ lw"‘-a 3«( a

c) (3 pts) Do you think the strategy of puttig more fissionable material in the bomb sufficient to
insure the reliability of the bomb for many, many years? Briefly explain.

TL}A '\s«‘-i'o\ M S‘TM«\% . ’rl\.t Pu Lo’t\\ '/\,Mol-zc‘a-e)/zrj -Iﬂ ZsTU.
WhX comstitvkeg & ceixicad Ma s o% Poas plu(-ov\wz-v Mlcfd
Nov— work Ha Shae Qay (F 't g« Py U Mxtune

/'}\So) s Nz,c.ﬂ/.\/m-wa &’“ °+LM u%wwf% ’oaM(o I‘O Fu«pﬁm’
S as e conwadondd %p(os:u.o waed 7o raskaysmi-ﬁe Pu it to
S critied MasS . Tt\w Cou.@awmi'a vl haw o

2\\::3)’):/t ”3(\»“: \‘&e“, SD\ W Stems Petlu&ww\::?m\&.\md

céM(&*J M‘\\acﬂld—»{] Loo-u,\J \m MMO_“Z)'
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Problem 23 (3 pts, answer honestly, this will help me design course in the future):

What topic (or topics) in this course did you find most confusing?

,44M.) k.a—M-r‘F
What topic (or topics) in this course did you find most interesting?
MSW

hore oV
(ot

B(bb\k —2C 8“"‘122

What topic (or topics) in this course did you find least interesting? ) M covu‘j
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